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Balancing Word Equations

Write the following word equations as chemical equations and balance them.

water > hydrogen + oxygen

sodium phosphate + calcium chloride > calcium phosphate + sodium chloride

hydrogen + nitrogen monoxide -» water + nitrogen

potassium oxide + water > potassium hydroxide

silicon dioxide + hydrofluoric acid - silicon tetrafluoride + water

aluminum sulfate + calcium hydroxide > aluminum hydroxide + calcium sulfate

lead (I1) nitrate + sodium bromide > lead (ll) bromide + sodium nitrate

lead (IV) sulfide + oxygen > lead (IV) oxide + sulfur dioxide

aluminum sulfate - aluminum oxide + sulfur trioxide

hydrogen chloride + calcium carbonate = calcium chloride + water + carbon
dioxide
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Balancing Word Equations

Answers

water > hydrogen + oxygen
2HO->2H, +0,
sodium phosphate + calcium chloride - calcium phosphate + sodium chloride
2 Na, PO, +3 CaCl, > Ca,(PO,), + 6 NaCl
hydrogen + nitrogen monoxide > water + nitrogen
2H +2NO>2HO0+N,
potassium oxide + water > potassium hydroxide
K,0 + H,0 > 2 KOH
silicon dioxide + hydrofluoric acid - silicon tetrafluoride + water
SiO, + 4 HF > SiF, + 2 H,0
aluminum sulfate + calcium hydroxide > aluminum hydroxide + calcium sulfate
AL(SO,), + 3 Ca(OH), > 2 AL(OH), + 3 CaSO,
lead (I1) nitrate + sodium bromide > lead (ll) bromide + sodium nitrate
Pb(NO,), + 2 NaBr > PbBr, + 2 NaNO,
lead (IV) sulfide + oxygen > lead (IV) oxide + sulfur dioxide
PbS,+3 0, PbO,+2 S0,
aluminum sulfate » aluminum oxide + sulfur trioxide
AL (50, ). =ALD. +3 50,

hydrogen chloride + calcium carbonate - calcium chloride + water + carbon
dioxide

2 HCl+ CaCo, » CaCl, + H,0 + CO,




